Key to Quiz II; F4360; Summer, 1999

1.  What is the underlying issue drives management to attempt to minimize a firm's company specific risk even though stockholders are indifferent to such risk?  Stockholders are well diversified while management is not.

2.  What drives stockholders to undertake higher variance projects once the firm has debt in its capital structure than they would have undertaken had the firm been financed only with equity?  Stockholders get all of the upside while they share the downside with bondholders.

3.  Who wins and who loses if the firm issues additional debt with the same priority of claim as existing bonds?  Stockholders win, original bondholders lose.

4.  List two reasons that a firm's board of directors may be ineffective in protecting the interests of stockholders.  Two of:  management and management’s friends on board, stockholders poorly organized relative to management, most stockholders give proxy to management, management uses stockholder’s money to fight stockholders.

5.  How does convertible debt help resolve conflicts between stockholders and bondholders?  If stockholders take advantage of bondholders, bondholders convert to become stockholders.

Use the following information to answer questions 6 through 8.

Christine Minivan Sales Inc. has recently implemented an EVA incentive system for its top executives.  For 1999, the firm has set a target EVA of $150,000; and an EVA leverage factor of $100,000.  For Stephen King, the CEO of Christine Minivan Sales, the firm has established a target EVA bonus for 1999 of $25,000.  After 1999, EVA targets will be determined using the Harnischfeger's self-adjusting target approach.  

6.  At what level of EVA will Stephen King receive an EVA bonus of $0 for 1999?  $50,000

7.  Assume that Christine Minivan Sales' actual EVA for 1999 turns out to be $200,000.  What will be the bonus payment to Stephen King for 1999 (assume no bonus bank)?  
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8.  Assume again that Christine Minivan Sales' actual EVA for 1999 turns out to be $200,000.  What will be the target EVA for Christine Minivan for 2000?  
[image: image2.wmf]2

000

,

150

000

,

200

000

,

175

+

=


9.  What kind of firm is most likely to realize a reduction in stockholder/manager conflict due to the firm issuing large amounts of new debt and using the proceeds to repurchase shares?  Firms that generate far more cash than is needed for worthwhile investments.

10.  In our discussion of agency, what distinction was made between signaling and monitoring?  In monitoring it is the principal that initiates the action while with signaling it is the agent that initiates the action.
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